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The input and output data of ABe,Company for a particular time period is given below :

Output : Rs 1,00;,00,000 Human input = Rs 1,00,000
Material input = Rs 2!100;000 Capital input = Rs 15,00,000

a,'t4,,,".' ,rr.

Note: Answer any,,FI!{E full questions.
,i, 

-:
Enumerate the basic techniques to ir,Rprove productivity.

i) Find BEP.
ii) What profit would result from a volume of 3000 units?

:: :::i:]*':]::si,]

What,is:::Forecasting? Explain the C'lements of good fore0asting.

Energy input : Ri" 50,000 Other expenses input = 40,000
Determine total factor and.tbtal productivity. (10 Marks)

2 a. Describe the char.qcteriStics of Operations decisions. (10 Marks)
b. Annual fixed cost at a small textile shop is Rs 46,000 and variable costs are estimated at

50% of the Rs 40 per unit selling price.

As you can see in the following table, demand for heart transplant surgery at a Hospital has

increased steadily in the past few

The director of medica

rs-

Year I ) J 4 5 6

IJeart transplants 45,,, 50 52 56 58
,l

I iervices predicted'6'""years ago that demand in year I would be 4l
surgenes.
i) Use exponential smoothing. First with a smoothing constant of 0 6 and then with one of

0.9 to develop forecast for years 2,through 6. Find MAD.
ii) Use a I -+year moving average t0'forecast demand in years 1 through 6. Find MAD.

::-,
a. Explain1he techniques useful for evaluating capacity alternatives.
b. _,,List and exp lain the 

. 

facf'orS"hffecting lo cat ipn;,dec is io ns.

a. Explain the inputs and outputs of Master Scheduling process.
b:" Consider a three period modal w,fere regular and overtime productions

production gapaoities for the thre€,:p'eilods are given below :

(10 Marks)

(10 Marks)
(10 Marks)

(10 Marks)
are used. The

,;:",r Producti iti'rrir'',. -YfOClUOIlOn OaDaClt les

Period Production caoacitv (units)

Reeular Overtime
1 l5 10

2 t5 0

J 20 15

The productionr*osst per unit is Rs 5 for regular production and Rs 10 for overtime
production. ,*,,holding bost per unit and shortage cost per unit are given by I and 2

respectively. Thb demand units for three periods are 20,35 and 15 respectively. Determine

Optimum production schedule.
I of2

(10 Marks)



a,

b.

,.j;,,rir, 1oMEg1

-; "'
List and explain the major reasons for carrying 

3q,,t=,j*ittrolling 
inventory in Industries'

*ib'..E - .. 
(roMarks)

Given the data for an item of uniform aemand"ig-shineous delivery time and back order

facility. Annual demand = 800 units ; CosF{*- e.t tem: Rs 40 ;

Ordering cost : Rs 800/order ; Invenlory thryfu cost : 40% lunit /year'

gu"L ot;t. cost : Rs l0iunit/year' Find oqt '

i) Economic order quantity. $.] * 
- {"',,',#1'

iii Maximum number of backordt{.: h l'

l}} m:n*;i:"",11*' ..-i1i, .*' (,,Marks)
v) Maximum inventory. ,.,=,',,1';lt 

" ",:

a.
) - II on * bo system for plannin* ,r8r.ffi,lir\

".Irf r{$f:
;([i ..'.

ItenB shown I table below :

(10 Marks)

(10 Marks)

(L0 Marks)
(10 Marks)

Determine the net reOu$Cihents for the three wnm
Misroprocessors tSwitches

Grqs*€quirement 110 28 56

0n k{nd inventory 18,,iJ 2 7

ldventory on order t2 t2 10

.rt,.,,-

l}::'r#'y.-r

:,,;;;rr:':4 '
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a "r:,i. .l&l+#

8 a. Explain the step - bv - utp p'oqq'menl,nroce': l:ll"-Wd 
in lndustrv'

- ;. fxptain the types of E - procu;embnt with exampte$'rf'1 
.,

s ,. t o 
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